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QUESTION 1

Scenario: An entire shift of workers arrives at the office at 09:00. All two thousand users turn on their thin
client terminals and launch the line of business application within a ten minute timeframe. The resultant
traffic is so intense that it takes 15-20 minutes until everybody is able to start working.

How can the administrator prevent this issue from affecting the user experience?

A. Implement a NetScaler load balancer to distribute the XML traffic.

B. Configure a Pre-launch application to be started for users before they arrive.

C. Upgrade the XenApp farm database server to a cluster with real time replication.

D. Configure additional zone data collectors to manage the numerous concurrrent logins.

Correct Answer: B

QUESTION 2

Scenario: After an infrastructure service review, an administrator needs to improve the availability of core
Web applications for customers. The administrator needs to place two recently purchased NetScalers in
two different datacenters on two different subnets.

Which two options could the administrator configure for the two NetScaler devices? (Choose two.)

A. GSLB

B. VRRP

C. Cluster

D. virtual MAC address

E. High availability INC pair

Correct Answer: AE

QUESTION 3

Scenario: An administrator has an existing SSL certificate that is installed and used on a Microsoft
Windows IIS server.

The administrator exported the certificate, including the private key, to a PFX file and now wants to use

that certificate for SSL Offloading on NetScaler.



Which two methods could the administrator use to import the certificate on NetScaler? (Choose two.)
A. Import PKCS#12.

B. ChangeadvancedSSLsettings.

C. Use the Server Certificate Wizard.

D. Convert the certificate to PEM format.

Correct Answer: AD

QUESTION 4

Scenario: A Citrix Administrator has configured two virtual servers (vServerl and vServer2). The
administrator would like to set up the virtual servers so that only when vServerl is offline, vServer2 will
become active.

What should the administrator configure to achieve this goal?

A. Service group

B. Spillover method

C. Backup virtual server

D. Spillover backup action

Correct Answer: C

QUESTION 5

Scenario: An administrator notices that each time the secondary node of a high availability (HA) pair is restarted, the
primary node shifts to a non-working state. The administrator runs a command and collects the information displayed
below: 1) Node ID. 0 IP: 172.31.250.10 Node StatE. NOT UP Master StatE. Secondary INCStatE.DISABLED Sync
StatE. DISABLED Propagation: ENABLED Enabled Interfaces : 1j5 1j1 1j2 1j4 0j1 Disabled Interfaces : 1j3 HA MON ON
Interfaces : 1j4 1j1 0j1 Interfaces on which heartbeats are not seen : 1j4 1j1 1j2 1j5 0j1 Interfaces causing Partial
FailurkE. 1j4 SSL Card Status: UP Hello Interval: 200 msecs Deadinterval:3secs Node in this Master State for: 0:0:0:35
(days:hrs:min:sec) 2) Node ID. 1 IP: 172.31.250.20 Node StatE. UNKNOWNjDOWN Master StatE. UNKNOWN INC
StatE. UNKNOWN Sync StatE. UNKNOWN Propagation: UNKNOWN Enabled Interfaces : UNKNOWN Disabled
Interfaces : UNKNOWN HA MON ON Interfaces : UNKNOWN SSL Card Status: UNKNOWN

What could be the cause of this issue?
A. Synchronization is disabled.

B. The Hello Interval is set too high.

C. One of the interfaces is disabled.

D. One of the HA Monitoring interfaces is failing.



Correct Answer: D

QUESTION 6

Scenario:Afterarestartofasingle NetScaler, userscomplain thatthelogonpagehaschanged. An administrator
plans to verify that a startup script exists and contains the necessary command.

Where can the administrator find the startup script?

A. jetc

B. jdev

C. jnsconfig

D. jnetscaler

Correct Answer: C

QUESTION 7
An administrator is reviewing the following output:

vIP(141.128.58.149:80:UP:WEIGHTEDRR): Hits(38200495, 18jsec) Mbps(1.02) Pers(OFF) Err(0) Pkt (186jsec, 610
bytes) actSvc(4) DefPol(NONE) override(0)

Conn: CIt(253, 1jsec, OE[252/]) Svr(3) S(141.128.49.40:80:UP) Hits(9443063, 4jsec, P[2602342, Ojsec])
ATr(5) Mbps(0.23)BWImt(100 kbits) RspTime(112.58 ms)

Other: Pkt(36jsec, 712 bytes) Wt(10000) RHits(31555)

Conn: CSvr(42, 0jsec)MCSvr(20)OE(16)RP(11)SQ(0)

How much traffic is being passed through the public IP address based on the output displayed above?
A. 100 kbits

B. 1.02 Mbps

C. 0.23 Mbps

D. 112.58 ms

Correct Answer: B

QUESTION 8

Scenario:AcompanywebsitecurrentlyhasthousandsofGlFimages.UsingtheNetScaler, aCitrixAdministratorneeds to
convert the GIFs to PNG format to reduce bandwidth requirements. Which feature on the NetScaler can accomplish this



task?

A. Priority Queueing

B. Content Switching

C. Content Accelerator

D. Front End Optimization

Correct Answer: D

QUESTION 9

Which two items are needed to import an SSL certificate? (Choose two.)
A. A public key

B. A private key

C. A root certificate

D. A server certificate

E. An intermediate certificate

Correct Answer: BD

QUESTION 10

Which command is used to verify the authentication process?
A. show aaa user

B. show aaa stats

C. cat aaad.debug

D. set aaa I[dapParams

Correct Answer: C

QUESTION 11

Scenario: An administrator must implement NetScaler Gateway. The solution must allow users to be able
to change their Active Directory password from the NetScaler Gateway logon page.

Which two actions must the administrator perform to meet the requirements of this scenario? (Choose

two.)



A. Configure LDAP authentication.

B. Configure LDAPS authentication.

C. Add a RADIUS authentication server.

D. Enable the \WAllow password change\\' option for the LDAP authentication server.

Correct Answer: BD

QUESTION 12

Scenario: A virtual server has been configured in the Content Switching node to provide multiple Web services using the
full website path location. This website contains details that can only be displayed using a specific Web browser such as
Internet Explorer. Which two actions must an administrator perform to ensure that users are informed of the browser
requirements? (Choose two.)

A. Configure Advanced Expression policies to determine the type of browser used.

B. Create a backup server to display a website that informs users of the browser requirements.

C. Configure a redirect URL to redirect users to a website that informs them of the browser requirements.

D. Configure a default policy to redirect users to a website that informs them of the browser requirements.

Correct Answer: AD
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